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TFind the simple interest earned on Emily’é investment of $12 500 if it is invested
- for: ‘ :

| (a) 5 years at 5.5% per annum

’ (bj 15 months at 8% per annum

To what amount will Judy’s investment of $1500 grow 1f 1t is 1nvested at 5% per
_annum compounded annually for 10 years?

Sophie’s new motor bike deprecmtes at 18% per year each year. What will it be

" worthin 9 years time (answer to the nearest dollal) if it cost $18 000 new'? ‘

Jennifer’s investment of $1000 gains an amount of $595 of interest when 1t is
invested for a nurber of years at 8.5% simple interest. For how long was it

mvested’?

For how loﬁg (in years) will Christine need to invest $10 at 10% per annum for it to
double in value: . '

el

(@  With simple interest? -

~(b)  With compound interest?

S

Amy has $18 000 to invest and can’t decide which investment option to use. She is
offered either a simple interest rate of 7.5% per annum on her investment or 6%

_ interest compounded annually. Amy decides to invest her money for 8 years.

(a) . Calculate the simple interest on her investment

(b)  To what amount would her mvestment grow if she uses the compound
‘ interest option? .

(¢)  What interest would she gain with the compound interest opﬁon?
(d) * What should her decision be‘7
Amy s bank offers to compound her 1nvestment monthly at the same rate of 6% pa '

(e) Wﬂl this change her decision? Expiam your answer with approprxate
working. :



An investment at the Baret Bank earns $2080 in interest over 4 years on an
investment of $8000. What was the simple interest rate per annum?

. Ahome theatre system depreciates at 30% each year for the first two years and then

20% a year after that. If Calleen pays $7900 for it new, what percentage of its
or1g1na1 Value remains after 10 years? _

Taylor bought a new laptop costing $3600. She decided to pay it off in instalments ~
and paid a deposit of 3450 and then monthly payments of $162.75 for 2 years. -

(a)  What was the balance after the dep031t was pald‘?
- (b) W'hat was the total cost to Sarah for the 1aptop paying by this method?

(¢)  How much extra did she pay'for the laptop?

10.

Ilynn borrows $12 OOO and repays the loan w1th monthly repayments of $305 over 5

~ years.

(a)  How much interest-does Tlynn pay?

(by What would be the equivaient flat rate of intereét per year for thisloan? -

11.

Khoo Kredit Kmds offers Meyv:an a deal where she pays only 0.048% mterest per
day on the outstanding balance of her account. - :

(a) What would the interest be for an outstandmg balance of $2536.20 over
© 25 days?

(b)  What is the equivalent annual flat rate of interest per year? (use 365.25
days per year) : _

12

Melanie borrows $25 000 to buy an oid Morgan sports car. She agrees to pay it back
by paying $8000 at the end of the first year and each year after that until the loan is

paid back in full. She is charged 10% interest per year on the balance owmg on the

loan before each payment.
: (a) | How much does she owe on the loan after the first payment is made?
(b) What does she Qwe after makmg the third payment? T

" (c) Wil s_ime have paid it off after her fourth payment? - .

C’est fini
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